
9715 kg      =       ...................     g 4823 kg      =       ...................     g

7285 kg      =       ...................     g 36 g      =       ...................     kg

92 g      =       ...................     kg 72 g      =       ...................     kg

57 g      =       ...................     kg 31 g      =       ...................     kg

22 g      =       ...................     kg 62 g      =       ...................     kg

9318 kg      =       ...................     g 12 g      =       ...................     kg

8255 kg      =       ...................     g 657 kg      =       ...................     g

92 g      =       ...................     kg 98 g      =       ...................     kg

1182 kg      =       ...................     g 90 g      =       ...................     kg

1230 kg      =       ...................     g 32 g      =       ...................     kg

64 g      =       ...................     kg 21 g      =       ...................     kg

48 g      =       ...................     kg 1360 kg      =       ...................     g

2208 kg      =       ...................     g 9 g      =       ...................     kg

8 g      =       ...................     kg 6 g      =       ...................     kg

8185 kg      =       ...................     g 60 g      =       ...................     kg



9715 kg   =   9715000 g 4823 kg   =   4823000 g

7285 kg   =   7285000 g 36 g   =   0,036 kg

92 g   =   0,092 kg 72 g   =   0,072 kg

57 g   =   0,057 kg 31 g   =   0,031 kg

22 g   =   0,022 kg 62 g   =   0,062 kg

9318 kg   =   9318000 g 12 g   =   0,012 kg

8255 kg   =   8255000 g 657 kg   =   657000 g

92 g   =   0,092 kg 98 g   =   0,098 kg

1182 kg   =   1182000 g 90 g   =   0,09 kg

1230 kg   =   1230000 g 32 g   =   0,032 kg

64 g   =   0,064 kg 21 g   =   0,021 kg

48 g   =   0,048 kg 1360 kg   =   1360000 g

2208 kg   =   2208000 g 9 g   =   0,009 kg

8 g   =   0,008 kg 6 g   =   0,006 kg

8185 kg   =   8185000 g 60 g   =   0,06 kg


